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Q.14. Find the perimeter of the following. Give your answer correct to 2 decimal places.
(b) A semicircle of radius 3.8 cm.
      Solution:			                                                                                         d = 2 r
     Formula		  	                                                                                           =2x3.8cm
     Perimeter of semicircle                                                                                              d =7.6 cm
   =diameter + length of arc  
   =7.6 + (1/2 x π x d)
   = 7.6 + (1/2 x 22/7 x 7.6)
   = 7.6 + 83.6 / 7 
   = 7.6 + 11.94
   = 19.54 cm   Ans. 
Example # 3                                                       
Q.14. Find the perimeter of the following. Give your answer correct to 2 decimal places.
(b) A semicircle of radius 1.2 cm.
 Solution:			                                             d = 2 r
     Formula			                                               =2x1.2cm
     Perimeter of semicircle                                                  d =2.4 cm
   =diameter + length of arc  
   = 2.4+ (1/2 x π x d)
   = 2.4 + (1/2 x 3.14 x 2.4)
   = 2.4 + 7.536 / 2
   = 2.4 + 3.76 
   = 6.16 cm      Ans.
Homework 
Q. Find the perimeter of the following semi-circles. (Solve any three)
1. Diameter = 5cm
2. Radius = 3.2cm
3. Radius = 2.5cm 
4. Diameter = 7cm
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Q. Find the perimeter of the following. Give your answer correct to 2 decimal places.
    A quarter circle of radius is 4.5 m.
    Perimeter of one quarter circle
    = radius + radius + length of arc
    = 4.5      +    4.5    + ( 1/4 x π x 2 x r)
   = 4.5      +    4.5    + (1/4 x 3.14 x 2 x 4.5) 
   = 9.0 + 28.26 / 4
   = 9.0 + 7.065
   = 16.065     or   16.07 m      Ans.
Homework
Q. Find the perimeter of the following quarter circles. (Solve any three)
1. Radius = 4cm
2. Radius = 1.2cm
3. Radius = 2.5cm
4. Radius = 6cm
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2. Find the perimeter of a semicircle with diameter 4cm. (Take xt = 314
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13. A circle with radius 21 cm is divided into 4 identical quarter circles. What is the
perimeter of one quarter circle? (Take nt = 7]

Perimeter of one quarter circle 21 cm

= radius + radius + length of arc
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15. The figure shows three-quarter of a circle. Find its perimefer. (Take mt= =

Perimeter of the figure = 7 + 7 + length of arc
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16. The shaded figure is made up of 4 identical ¢ quor‘rer circles. Find the perimeter

of the figure. (Take mt=3.14) —
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Method 1
Perimeter of the figure = 4 x length of each arc 3+
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Method 2
Perimeter of the figure
= Circumference of the circle
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